

More on Intension

By Dennis J. Darland

December 12, 2007

Revised December 19, 2007

Revised (to pdf) May 16, 2011

Copyright © 2007 Dennis J. Darland

Symbolically:

Let $p = (\exists S)(\exists r)(\exists r)(\exists w)(\exists x)(\exists y)(\exists t) \& \text{symbol_1r}(S, t, r, R) \& \text{symbol_0r}(S, t, w, a) \& \text{symbol_0r}(S, t, x, b) \& \text{symbol_0r}(S, t, y, c)$

So $fz = \{(R,a,z,c) \mid (\exists S)(\exists v)(\exists r)(\exists w)(\exists y)(\exists t)\text{symbol_1r}(S, t, r, R) \& \text{symbol_0r}(S, t, w, a) \& \text{variable_0r}(S, t, z, v) \& \text{symbol_0r}(S, t, y, c)\}$

Let $gz = \{(R2,a,z,c) \mid (\exists S)(\exists v)(\exists r)(\exists w)(\exists y)(\exists t)\text{symbol_1r}(S, t, r, R2) \& \text{symbol_0r}(S, t, w, a) \& \text{variable_0r}(S, t, z, v) \& \text{symbol_0r}(S, t, y, c)\}$

Suppose $(x) (R(a, x, z) \Leftrightarrow R2(a, x, c))$

But $R \neq R2$

Then S believes fz is $(\exists v)(\exists r)(\exists w)(\exists y)(\exists t) \text{belief_r}(S, t, r, w, z, y) \& \text{symbol_1r}(S, t, r, R) \& \text{symbol_0r}(S, t, w, a) \& \text{variable_0r}(S, t, z, v) \& \text{symbol0-r}(S, y, c, t)$

And S believes gz is $(\exists v)(\exists r2)(\exists w)(\exists y)(\exists t) \text{belief_r}(S, t, r, w, z, y) \& \text{symbol_1r}(S, t, r2, R2) \& \text{symbol_0r}(S, t, w, a) \& \text{variable_0r}(S, t, z, v) \& \text{symbol0-r}(S,y,c,t)$

Conclusion:

So S believes $R(a, z, c)$ essentially involves R, not just the values of $R(a, z, c)$.

Back to Top <http://dennisdarland.com/philosophy/index.html>